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COMPUTER ARCHITECTURE AND ORGANISATION

Fraifea wwa . = E2 ) (wfmmaw 37 : 70
Time allowed : Three Hours] IMaximum Marks : 70
T - (i) WEUHEIH HiAaGrE £ 99 7 § et gfe & 397 3
Note ; Question No. 1 is compulsory, answer any five questions from the remaining.
(i) TCAF T & T G T FHEIT O HY €A FIAT |
Solve all parts of a question consecutively together.
(iii) UeF qe- F 79 72 7 gRey FAw )
Start each question on a fresh page.
(iv) &It wrarst & s gl @ feafr 5 st srqare B arq &

Only English version is valid in case of difference in both the languages.

1. (i) #vi faur 9 RB « RA 1 @02 ait aréagy §7==1 @itan |
Draw hardware structure realizing RB «— RA in serial mode.
(i) Fefahea F ofenfea

Define the following :

(a) WIFHI- 3R
Micro instruction
(b) HIETHL-FIE

Micro Code

(i) TRy @RF gt @ RByaam g

What is the purpose of pipeline processing ?
(iv) FT HFMET FeT SR F G daE AT 39 e dfaw

List out the basic arithmetic computer instruction along with their description.
(v) HER A s 0 guEeEd

What is memory mapping ? Explain. 2x5
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2. (1)

(i)

(ii)

(i)

(i)

(i1)

A7) WOned F Y@ S qHERT |

Sketch and explain a common bus organisation.

Explain the functions of the following registers :

(a) PC

(b) MAR

{(c) MDR

(d) IR

(e} AC 6x2

FY F A T @ SR s o @ THERT |
Draw and explain the functional block diagram of control unit of a computer.
“TEEH” I I vd avitd H{ 3R WA FT ) ey 3§ eI |

Define and classify interrupts and also explain software interrupts in brief. 6x2

wfer fag ALU 1 3@ a1 J9emsd |

Draw and explain floating point ALU.

STACK =1 % g |

Explain the STACK organisation. 6x2

¥ #AI § WRITE POLICIES %H-34 4t giat ¥ 2 wwsmed |
What are the WRITE POLICIES in a cache memory ? Explain.

TH FEG W AN T 9T F ford arédaw @ @y fo e o o W gE 1101
@ 1001 Fi THY T § ¥ |

Draw block diagram of hardware for addition and subtraction in a computer.
Also subtract unsigned number 1001 from 1101 using circular method. 6x2

Te T s T w1 faes fesret wemsw |
Explain Wilkies design of microprogrammed control unit.

2's FECARZ (374aT G2H AANGH) F1 398 TR g 39 WS qd g 1101 |
1011 | 70T T | T FIEAaT TAi=ve i 3 |

Give hardware implementation of multiplication of unsigned binary number
1101 to 1011 using two’s complement multiplier (or Boots algorithms), 6x2
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(i) UF Fwgey fam # 512 age #1 RAM 3T 512 9132 &1 ROM &I 3iavgsan & |
RAM T ROM 512 x 8 fae & wgaa = 91l & | 39 fa=arw &g =fa uga w741 =5fa
farg =1 g, & A SireA % foo geeew fa &t taifea Sifa
A computer system needs 512 bytes of RAM and 512 bytes of ROM. The RAM
and ROM chips to be used of size 512 x 8 bit. Draw the memory address map for

this configuration and interface diagram for the connection of memory chips to
the CPU.

(i) weagifarr mla mn ages-geaaifem mft am o 9 Fife

Differentiate between associative and set associative memory mapping. 6x2

fr= o wifera femforst fafa - (@1 71
Write a short note on the following : (Any two)
(i) CISC wamt
CISC processor
(i) Dot Matrix =z
Dot Matrix printer
(iii) Direct Hut dftm
Direct Memory Mapping 6x2

http://www.rtuonline.com

dny

[UONLI MMM/

wod*aul



